

REF: DRL/

D635



UNIT 88 SLUTCHERS Tel: 01925 LANE 652257 WARRINGTON Fox 01925 WALLOL

Waste Carriers Licence: CB/JN5818AY
AATF Approval Number: WEE/GE0005ZT/ATF
Waste Management Licence: EAWML100229

RECEIPT / INVOICE

Purchaser	OMAR 29/04/2014			
Date				
Item Collected		Qunatity	Price	Total
PORTABLE TV		227	£7.50	£1,702.50
MEDIUM TV		48	£8.00	£384.00
LARGE TV		158	£8.00	£1,264.00
COMBITV		74	£3.00	£222.00
STEAM IRON		51	£3.00	£153.00
PC		91	£23.00	£2,093.00
FRIDGE DD		10	£15.00	£150.00
LABOUR		1	£400.00	£400.00
GROSS AMOUNT			£6,368.50	

SEAL NUMBER:

0434558

CONTAINER NUMBER:

ECMU 962 0340

VAT (IF APPLICABLE)

NETT AMOUNT

£0.00 £6,368.50

Customer Notice: Please return any items deemed end of life to Daniels Recycling Ltd and we will recycle all components appropriately free of charge

PICTURES TAKEN DURING LOADING AT DANIELS RECYCLING LTD























